
 
 

Prove the below closed form: 

𝐈 = ∫∫(
𝐱 + 𝐲

𝐱 − 𝐲
) 𝐭𝐚𝐧−𝟏 (

𝐱 − 𝐲

𝐱 + 𝐲
)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = 𝟐𝐆 −
𝛑

𝟒
𝐥𝐨𝐠(𝟐) −

𝐥𝐨𝐠(𝟐)

𝟐
 

Where, G is a Catalan’s constant. 
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𝐈 = ∫∫(
𝐱 + 𝐲

𝐱 − 𝐲
) 𝐭𝐚𝐧−𝟏 (

𝐱 − 𝐲

𝐱 + 𝐲
)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 = ∫∫(
𝟏 + 𝐲/𝐱

𝟏 − 𝐲/𝐱
) 𝐭𝐚𝐧−𝟏 (

𝟏 − 𝐲/𝐱

𝟏 + 𝐲/𝐱
)

𝟏

𝟎

𝐝𝐱

𝟏

𝟎

𝐝𝐲 

Let 𝒚/𝒙 → 𝒎 

𝐈 = ∫𝐱∫(
𝟏 + 𝐦

𝟏 − 𝐦
) 𝐭𝐚𝐧−𝟏 (

𝟏 − 𝐦

𝟏 + 𝐦
)

𝟏

𝐱

𝟎

𝐝𝐦

𝟏

𝟎

𝐝𝐱
𝐈𝐁𝐏

=
 

=

[
 
 
 
 
𝐱𝟐

𝟐
∫(

𝟏 + 𝐦

𝟏 − 𝐦
) 𝐭𝐚𝐧−𝟏 (

𝟏 − 𝐦

𝟏 + 𝐦
)

𝟏

𝐱

𝟎

𝐝𝐦

]
 
 
 
 

𝟎

𝟏

+
𝟏

𝟐
∫(

𝟏 + 𝐱

𝐱 − 𝟏
) 𝐭𝐚𝐧−𝟏 (

𝐱 − 𝟏

𝟏 + 𝐱
)

𝟏

𝟎

𝐝𝐱 =

=
𝟏

𝟐
∫(

𝟏 + 𝐦

𝟏 − 𝐦
) 𝐭𝐚𝐧−𝟏 (

𝟏 − 𝐦

𝟏 + 𝐦
)

𝟏

𝟎

𝐝𝐦]

𝐦→𝐱

+
𝟏

𝟐
∫(

𝟏 + 𝐱

𝐱 − 𝟏
) 𝐭𝐚𝐧−𝟏 (

𝐱 − 𝟏

𝟏 + 𝐱
)

𝟏

𝟎

𝐝𝐱 =

=
𝟏

𝟐
∫(

𝟏 + 𝐱

𝟏 − 𝐱
) 𝐭𝐚𝐧−𝟏 (

𝟏 − 𝐱

𝟏 + 𝐱
)

𝟏

𝟎

𝐝𝐱 +
𝟏

𝟐
∫(

𝟏 + 𝐱

𝐱 − 𝟏
) 𝐭𝐚𝐧−𝟏 (

𝐱 − 𝟏

𝟏 + 𝐱
)

𝟏

𝟎

𝐝𝐱 =

= ∫(
𝟏 + 𝐱

𝟏 − 𝐱
) 𝐭𝐚𝐧−𝟏 (

𝟏 − 𝐱

𝟏 + 𝐱
)

𝟏

𝟎

𝐝𝐱 =
𝛑

𝟒
∫(

𝟏 + 𝐱

𝟏 − 𝐱
)

𝟏

𝟎

𝐝𝐱 − ∫(
𝟏 + 𝐱

𝟏 − 𝐱
) 𝐭𝐚𝐧−𝟏(𝐱)

𝟏

𝟎

𝐝𝐱 = 

=
𝛑

𝟒
∫(

𝟏 + 𝐱

𝟏 − 𝐱
)

𝟏

𝟎

𝐝𝐱 − 𝟐∫
𝐭𝐚𝐧−𝟏(𝐱)

𝟏 − 𝐱

𝟏

𝟎

𝐝𝐱 + ∫ 𝐭𝐚𝐧−𝟏(𝐱)

𝟏

𝟎

𝐝𝐱 

Use the integration by parts formula 



 

𝐈 =
𝛑

𝟒
{−𝟐𝐥𝐨𝐠(𝟏 − 𝐱)]𝟎

𝟏 − 𝟏} − 𝟐{−𝐥𝐨𝐠(𝟏 − 𝐱) 𝐭𝐚𝐧−𝟏(𝐱)]
𝟎

𝟏
+ ∫

𝐥𝐨𝐠(𝟏 − 𝐱)

𝟏 + 𝐱𝟐

𝟏

𝟎

𝐝𝐱} + ∫𝐭𝐚𝐧−𝟏(𝐱)

𝟏

𝟎

𝐝𝐱

= 𝐥𝐨𝐠(𝟏 − 𝐱) {−
𝛑

𝟐
+ 𝟐 𝐭𝐚𝐧−𝟏(𝐱)}]

𝟎

𝟏

−
𝛑

𝟒
− 𝟐∫

𝐥𝐨𝐠(𝟏 − 𝐱)

𝟏 + 𝐱𝟐

𝟏

𝟎

𝐝𝐱 + ∫𝐭𝐚𝐧−𝟏(𝐱)

𝟏

𝟎

𝐝𝐱

= −
𝛑

𝟒
− 𝟐∫

𝐥𝐨𝐠(𝟏 − 𝐱)

𝟏 + 𝐱𝟐

𝟏

𝟎

𝐝𝐱 + ∫𝐭𝐚𝐧−𝟏(𝐱)

𝟏

𝟎

𝐝𝐱

= −
𝛑

𝟒
− 𝟐 {

𝛑

𝟖
𝐥𝐨𝐠(𝟐) − 𝐆} + {−

𝐥𝐨𝐠(𝟐)

𝟐
+

𝛑

𝟒
} = 𝟐𝐆 −

𝛑

𝟒
𝐥𝐨𝐠(𝟐) −

𝐥𝐨𝐠(𝟐)

𝟐
 

 

 


